last revised: 170224 HjC

16=contam

LF INPUTS ‘ LEMO (TTL) INPUTS OUTPUTS
is is used as 1 1 FMS LED
2 LEMO input 2 2 EPD_CR trigger GLINK 3T
3 based on jumpers 3 3
4 J 4 J 4
5 1 5 3 5 7
6 5 6 0 6 1 5
7 [ calerd-Hi
8 8 from 8 TOF calerd-Lo
9 9 BBCW 9 8 Scaler5-Hi
10 10 10 9 Scaler5-Lo
1 1 1 0 Scaler3-Lo
2 2 2 1 Scaler6-Hi
3 3 3 2 Scaler6-Lo
7 3 7
5 5 5 4 [TCU
16 16 16 15 BX201
caler2-Lo
caler3-Hi
FANOUT
ScalerI-Hi
T BBCE L to FO/6 1 1 Scalerl-Lo
2 BBCW L to FO/7 2 2 Scaler2-Hi
3 3 3
4 J 4 J 4
5 6 5 5 5 4
6 6 6 8 6 9
7 from from GLINK4R inputs INPUTS - DICT
8 BB102 8 TCUI 8 [TTLIN
9 El TCU 0:15 9 Y-filled BBCWIN
10 10 PHYSbits 10 VT201IN
1 1 1 QTSMDIN
2 2 2 BX202IN
3 3 3 B-filled ZDI01IN
4 4 4 VPDEIN
5 5 5 [TF201IN
16 16 16 PP2PPIN
REVTICKIN
PDWIN
[TCUIIN
[TCURIN
T 1 1 GLINKIN (GLINK4
2 2 2 RCCIN
3 3 3 BBI02IN
4 J 4 J 4 VPIOIIN
5 7 5 5 5 51 BBI0IIN
6 0 6 4 6 0 J56 RevTickIn BBCEIN
7 revtick HEADERIN
8 from 8 from 8 TCIM PECL ZDCE
9 BB101 9 TF201 9 TCIM PECL ZDCW
10 10 10 TCIM PECL ZDCE.W
1 1 1 i
2 2 2 RHICF2
3 3 3 RHICF3
4 4 4 RHICF4
5 5 5
16 16 16
T 1 1 to SCAS5/10
2 2 2 to SCA5/11
3 3 3
4 J 4 J 4
5 6 5 5 5 5]
6 9 6 2 6 B
5
8 from 8 from 8 TCUout
9 VP101 9 ZD101 9 0 FMS LED
10 10 10 T DCE.W
1 1 1 2 REVTIC
2 2 2 3 RHICF
3 3 3 4 abort gap
4 4 4 5 Yrilled
5 5 5 6 YUP
16 16 16 YDN
8 YUN
9 BUN
10 BUP
1T EPD CR Trigger
T clock 1 1 2 2 Tive
2 Tatch 2 2 3 3 Tive
3 run/stop 3 3 4 4 Tive
4 J halt 4 J 4 5 t5 Tive
5 6 5 5 5 5]
6 1 6 1 6 7
5
8 from 8 from 8 GLINK 3T out
9 RCC 9 BX202 9 0 RC
10 10 10 T PP2PP
1 1 2 P
2 2 3 P
3 3 4 P
4 4 5 P
5 5 6 P
16 16 PP2PP
8 PP2PP
2 9 PP2PP
3 10 PP2PP
El 1T PP2PP
5 1 1 REVTICK 2 P
6 2 2 TCIM ZDCE 3 P
7 3 3 TCIM ZDCW 4 P
8 J 4 J 4 TCIM ZDC Coinc 5 PP2PP
9 5 5 5 5 5] RHICFO
10 9 6 5 6 6 RHAIC2
11 from RHICF3
2 TCUR 8 from 8 RHAIC4
3 DetLIVE 0-15 9 PP2PPTAC 9
14 T T

17-20 unused
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